C 9R

1H(CK) 28 (k) 38 (K) 4H (&)
L% BRf —AN&EHY | |#as Bm —ANHY | |#iz% Bhd —ANZEHY | |#iz BR% —AZY
EKS=E ERSE EKS=E EXRS=E
T BEXER 60| [ |HEEX(EFHE-8) BN EPE 50| [ [EEX(ER-B) 70
E |m=m Ay 20| ¥ |gEXEH-A) R R 50| & [#E%(ER-BA) 80
'E‘l' (LR 1= D KE Ok—IL) 10 ~ /\ h
g S 7| e %5 0 206] |1V |53 o 206 43, o 206
e — v &
& |PRE 5 (B SAEQHENE % 40| |4 [BH W-RELHVE 30 RAI—Y Y R 50
Z |@mFLiokn 2542 05| |&  |thsszosths N 50| (2L (mE tbeEHLAvE 20| |l& |BE 0.1
I |ZFm 1 |A [Bssgosaths f1 80 R—ay R54R 5[ | |EE 2
Ao EE 4| |F B | BBEVATAE 20| | |TARA 4
ISk 3 4| [P |FrRy N E 20| | |k 3
i’i RO (E B9 08 gt AR 25 P |my 20| | [6r-h 6
* ais 045| | [Ew3SY 20| |5 [Rox—= 15] |7 B LEVEF 4
(63 = |BYBSE 1. |AZ 10| |z |BH(EaE 3
C 43, @) 206 () BLEFLyLLY BBt 10f | [I2AIZK 1 O 2
=3 = Y55 0.5] |/
¥ [y 30| | |HBT 5| |97 |EiENE— 05| |# [£®L 35
7 |Ee3Y 20| T [E)ES5HA 3l Y (LB h=RkE 25| R | 20
¥ Az IR CET: 25| || [reraFevd 3| € Az 5
S |@mf—ra— 3| | B2 0] [ [EaEE i f; EBYRCE 1
}I/ (ﬁz) UD% 1 2 5 A% 5 5 EE‘% (J: E %) 0.8 L, (%) /A ANDTHDERL IR 1 0
[ =D 1 g |PRE 5 |g  |PRE=V=R 07 |
W |mmemrise s amne 10| |4 [BI&E 04 FEoav YA IS 06| |¥g [HIBIT 5
B T+ [ROEHE 0.5 BiE 03| |z [E&E 30
S (LM EM F4R 20 EZLEIVET fFiRE 4 ) 0.05| (%1 =t 311§ 15
- (LR SAYFyTIL FEE 20 5 130 i 20 bt 5
S [whans 20 ﬁ PHE 6
5 G I=ES 30 EpdY 30 o HHZ 5
2 Ty 25 |2 ELEFL 4
+ (R)SVIRFYY 15 FRINSHR 8 | [k 110
v () B TURLyL LY I BiRE 10 1
D
th
)
&




C 9R

7H(A) 8H () 9H (K) 108 (K) 11H (&)
k3 & BR% —ANHY | |#iz% BRf —AN&EHY | |#as Bm —ANHY | |#iz% Bhd —ANZEHY | |#iz BR% —AZY
EXRS=E EKS=E ERSE EKS=E KOs
% |Hox@Ew) 62| |B  [B/8 (HEy) M 57| (S [BEK(ER-A) 70 |7 (2R 50 |X  |[HEEX(BE®) E*nfs
5 fi;g? ag /J\ B/ AESY) 85 % BEX(EE-B) 80 i YR/ 50| |2 |®FHK 5
i R - =
Ao xaz Bw 7 |l= (45 206 43 206 |1¥ [FEL 206| |1 ?Pﬁx“j’rx E
. f ﬂi 5 Z 06 A ,jith“ g
3, (45 206/ |y RISFT4(N—=D) 35 ’ =8 70| |4 R IFBmitE 45 % DEZAIZBL (A=) 5
_ - ?J)‘Ciﬁ _ 15| | [BEAESVTF 20| |3l |AifzAeid 5 |3 | CB)KEKE 12
r:\ ﬂzm:‘b»rx 40 . «\;:uy ASAR 51 37 | E& 35 EHE 13| [ | ERE 5
1 |BDE#m Gy (B) HENLE 5 10| (A 1y 20| |I& |AB 5 [K |B34i 0.8
;B 1] |7 [ EmLs 10 |Y  |fttesm 2| |2 [@8Tun 3 |A [BOEmH 3
A a0 | [BEEAU o] |7 [Az 1|1 |® [&STun 3| 1Y [&E 2
BREE 2 |7 [B5ESE 1 | P [ o] | [#s5m o5 |7 [mmCEam) [
(LR = Dok Gh—) 15| | EX 40| [ FoTHA 10f |5 YACEE 5 |4 BiE 0.6
5 AS 10| |z [LBR)FRRKE 25| @ |@mFLinkgn 2542 1 |~ |[CRILEVEH NE}
1? El:l#a? 6 ’?0. LHL 10| |Eg (&= 07 (v [EOE; 0.7 43, 206
;;‘oﬂ F—<> 8 |7 |[B% 10 I2AI=< 03| | |(WEEE¥) 2| |90
g =3 2 7 AB 7| |® R 3 |1 |BE 04| Y |Ew3Y 20
< [Shl=< 05 [Zh1= 0.3 ﬁ Y55 i 1 ) 003| [T [wFLX® 5
R CEET ||, [pz5 2| |2 [Ca 05| |7 [k 0] [V [Az 7
o [RO®E 2| |4 |~7|~7=H~y7 5/ | R Fey S 4 j zé (f\)R—)a—> 5
> ii«ﬁ% 2l |y |EAESE 5 bR 1% [R=2r R54Z 5 | BRI E 05
a 'ﬁiﬁ - | |7 [|DRE2=V—R 1 EAEH 25| |z |Ledng 30| |fn |ewmmrLvss mmms 10
4 (BECESR 07| [~ |[BEECEEH) 1 KHZ 4| |1 EHE 20| |z
;) {«ri@—‘/—x 01| [¥ ?iﬁ _ 0.3 (LR ABR—F 4 |7 (@ =ho=(Es) 3| ¥ |EE 25
I ‘S‘t*&? 0.05 Z CL&D 0.05 FELOLYA I GHikE 0.3 A 7 RREAEIFZ (NE) 7
> CFEih 0.5 FELOLYA I PIRE 0.3 (=R 0.3 S5 os5| [T |==& 20
5 —Ik _ 0.01 FRE 0.2 o—yT 0.1 f fi¥F 3
RAANL S5 B 5 (= [BF=X 3 BiR 0.15 (LR A BR—=F al |4 [ZFE= 10
(l;!;)??'bﬁl‘] 20| [, , jG/U,SiA, 2 FELaLVA - BliRE 03| |’ (&) FLbhd Hyk 0.5
kS 25 | [FXAY 35 5 40 Bit 04| | |BE 1
FoT A 8| o [CR)Toyal— 15 ZL&S 003 |1 |Bi& 0.4
AS 5| | ﬁlfj"m 5 3L 40 & 15| [*  [BOE] 05
(87) 128 5] [~ FRINTUAH 5 Zp5Y 15 7 ELBIVET k= 5
(%)*LLL\E(T ZS5AR 0.8 () ABYTFUEL LY B 10 AS 10 1 & 110
(l/I;) NER—T 4 (S ERBELY LY DB 10 ~
?lijl - 0%;1 (%) 5 30 ;\ (B BEII1v 25
mOE] 05 ;";
FEravyA 3-GkE 0.3 H
CFEih 0.5 ~
= 110




C 9R

148 (H) 158 () 16H (7K) 178 (K) 18H (&)
R Bmdb —ANEY | (#iz BRf —ANEBY | |#wus Bmdb —AHY | [#zz BRf —ANEY | [#az4a BR% —AEY
EXRS=E EKS=E ERSE EXS=E EXRS=E
N EF #~m2 50| [ [HER(EE-H) 0| (£ |EEXER) 62| (K [Rk¥/S 50 [ |[#EEX(EE-H) 70
7@ Fy h3~6 70| |F (AR (ER-H) 80| |=  [HEkER 68| |¥ [km/ 50| |I&  |[gE%x(EE-8) 80
1 [@r @ 100| [ o [xaz ae 6| |/ h
s o x4 206 KpE B 717 [4E 206] | |45 206
EED 206| |13 4 * A
—~ hH |BEFEARSAR 20| [z, [4£Z2 o) 206| [z, |BEAIVTF 20 B EHL BftE 30
+ BT 20| |« [£z 2 A BEVATAT 20| (= |tittaid 4
v |BAsVF 15 (LM ABR—T 3| B [BREARSAR 25| |F |[GR)EHE 15| |& |BBE 3
~  |[LhuEbYXF 15| | [&E& 1| |A  [BUA5T 3= 2| |V |Lehrti 55| L |BOEH 2.2
T 45| 1Bl [GBuaiE 10| [ [oxcalzel 25| |7 [EE 40| (P [pE (LB 2.2
ft AZ o] [, [GEERU 10 g FELC(ES 18] 7 [k hehkaE 8l [ [2Y4 08
* le—= al |5  [EE 1|z |Az 0] [T |24l 1 K 1.1
o |[L=Zv e [FEery 40| | [CREPVLAIFA 8l [, |H3%H 1 |=
[ I2AI=X 06| [1v [EE 30| [ | GBDULE 3 b Frvd 6| |4 [TASRD 15
L |EE 03| |+ |wmrrookEc—w 15| |= [US55Hh 1 (85 |E0#E (P XHE) 15| |8 [ELIIES 25
A |HSEH | |lo  |AS 7 (> |BE 1| |1 [9RE—Y—R 1| |15 [2&EZAIZwL 10
g INEH 1] 1 ¥ 5| |9 HE (=B 3| | & FARESH 1 AS 7
| lr=rrFayT 8| |5 [o55m 1 | [mos 4 [F [rroavs somme os| |[? [BrEenada 6
Y [5zE5—U—=% 35| |7 [Cxm os| R [#Ya 05 2 &1t 03 g CEH 1
,;7,« AL—¥ 12 ;u = O &iH 17) |z |fELit 0/ |p [FUDE— 005/ |5 [REO&EH 2
HAESH 1| |3 [B& 05 |4 v = 0| |y |BE(EER 1
E |[Ffrovyx nemms 0.3 cL&d 0.06| |& [HBT 3| |5 a  |AYA 1
| Bt 0.4 FELavyA 5L-BiRE 04| |5 [SLOA 5 (1 (LR)FESHHE 15| U GHWYBITE 2
7 (2L&S 0.03 Th Rk 1l |IL [Ex 20 BARESH 1l [—n 0.01
ot i 50| | |aF 10 FrAY 25| | _
ANERSY 30 b (As 10 (4) M 20 |2 [B)Tmvay— 30
5 [Ee3Y 15 SoEL AR AYY) 55 gi hhE 5 Y X Auk 0] 1= [T 05
(f\)R—)La—> 5 7it=4aih 4 z hHZ 5 (fH)R—JLa—> 8 |2
(SILUFFLyL LY S 10 FH5HD 4 + HAZ 5 Y545l 1 ~ Nl g 30
(=R 1 ELETFL 4 FELOLVA IL-BlRE 0.2 |~
E—ov 5 BEE 06| Bk [k 115 Bif 0.2| [/
R—ay RS54R 5 O 05| [2 cLs> 0.05| |#
B 30 E 1 (T & kitiToY 2.5 )
AB 10 2 #
FUT YA 8 Y ~
(B) &< HALY 0.2 ;]“\
= 0.2 th
Y54 05 1)
;| 05 &
(LM ABR—F 4 ~
FEoavyA 5l-IiEE 0.3
BiE 0.2
L&D 0.03
EOEm 0.5
= 120




C 9R

23H (OK) 24H (KX) 25H (£)
w4 Bmdb —AHY | [#zz BRf —ANEY | [#az4a BR% —AEY
ERDE ERDE ERDE
BoEERER 59 |13 |[3yRsSy 50| | |$EE%X(BER) 68
- [BExER X e DA 50 [P |#BEXE®R) 75
% 35K 9 /’\\ i SOFENEAVR YY) 30
3EXK 10] [, 42 206 %, ] 1.6
4 2X 25 = |BiE 0.8
7, |LEHET 8| (£ |mA m-EHuLHVE 15| [;z |[ELE% 0.5
b} 3| |3l |me tb-EELAVE 10| |As (B)MYBRZE 0.7
#n | BiIE 0.7 BAESHE 1
Al £ |3z&Q 30| | |43 206
(4 0 206 |X  [E& 40| |2
- o [Cening 20 | [BAZSAR 30
% B - BEL vk 15) |, AS 10 |0 'J%C/U!:M 35
o BB tb-EsL Ak 10 | (LM KER—Xb 15| ¢ [HEVIIEDS 35
#& | BB 1 |2 [H3FH 1|z |[AB 15
Z  RCAIZeL 30[ || Hig/ 52— 1 1F [CB)SBVATFA 7
T EWZIES 30 SREALEL 25| |5 BS54 M 1
NAZh W5 L58mM) 25| | (LM HSR—F 4| |2 |ROE) 5
T AS 15 5E FELaLYA EL-BiRE 03| & HYA 2
% |moEzasss 5 _; &l 04| [P |mEmhmum) 2
TS 15 | L& 005] |4 |BEE 1.5
o |[ROEH 45 I—2RE—F 15| [ |[TARA 05
o |BREChIUE) 3 % 60| |#- [l 8
#H | TARA 0.7 *
~ |FELit 6 ROLRNL G I 5[ [+ [ZBEF 20
Fry 35 E& 30
5 30 LHL 15| |B (A 7
B 5 AZ 10 g hh® 5
B 20 (/) R—J)La—> 5 |5 |[emFiver 2542 1
Lo 7 B 5 1|y [REE&E 1
¥ 5 FELOLVA IL-BlRE 02| |] Bt 0.5
hHZ 6 O 02| |~ |TARA 0.5
HAHZ 5 Bt 02| | [ELEIVE fEkE 4
ZLETL 4 ) 0.03| [P |FELE® 1
7k 100 # [k 115
(B)F—X kit 15 (B BEE+E)— 50




C 9R

28H(A) 29H () 30H (JK)
R Bmdb —ANEY | (#iz BRf —ANEBY | |#wus Bmdb —AZHY
EXRS=E EKS=E ERSE
S |EE%XERA) N N ER EDR, 50| (X [HEXER) 62
& lmekEE-a) 8o |V [auRisy 50| |5 [HEEkK(BE) 68
w ~ e T 6
# 43, 206/ |\, 43 206 *HE B 7
# BER(FETY) 35| |4 |[mozmgo o s— 30 gi 4 206
B L&A 2| |13 [BozmEyA — 40
B [TASA 5 B |me tb-malavk 10
& hmLA—EE 15| |7 |FvRY 35| |¥F  |me me-mulhvk 15
L stk 5| |1 [Az 51 1€ [(ELS 60
R EETEST) 3| |7 [ocs 05 ;3 R Alzel 13
D EOE] 25 | ;) NS 10
= |[£= 0.8 B PR FryT ~/h4 8| = [CREPLAIFA 8
Y 1I2AlZK 08| |k (DR FryT &TAS—K o~ 8 |4y HS5H 1.5
B |BHE 15| | EOEm 35
f | ERE 005 [ |A—a2(RF4R) 5 RO#E (Fh XUHE) 2
& 4 |®  [BBEvAFAR 18| |F [&EHE 1
® lmhE || [E= so] [t [Eust 15
g EWYECE o3| |2 [AZ ol g L
o i 2 (&)<wHhAa=(>TL) 7 ] N:E1ba 5
v () Jayay— 30[ | +0O!)— 2| |¥ [&I=ES 20
0 |BpTiE 05| [ |[H3&ih 05| [y |EH 25
1) | (LM F=RKE 8l || A 10
I RoLZNL G S 5[ |+ (LR ASR—F 4 ¥ 5
kv 20 FASAESH 1] [ [haz 6
T ol |7 |&E 03| |Y  [Eaz 5
,; AS ol | [cLss 0.03 f; ELATL 4
A |EDFLbhw Huk 08| |7 [zravys s-mime 03| |~ [k 105
y |EDrYBSE 05| |, |B=UT 01| [,
H |[HIFH 05| [ [& 15| [0 |E)BREY— 50
h (LR AR—F 3 |D )
&) I:)% l:l gfﬂi 08 J" (1@ ) ?__x ﬁ*§§1t 1 5 }}‘ (R)BEMNAYNT(272BTY—) 2
A &g 05| |~ -
' cL&S 0.03
7 FEravyA g-iRE 0.5
CFEih 0.2
= 125




